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TUBE SECT A B C. D . CATH: «CONT = THSE

1AU2 4 2 32 4 - 19 19

1AY2 4 2 20 4 - 0
Insert leads into pins 4 & 9of 9 pin socket

1BC2 2-5-8 2 25 4 - 169 0

1 2 17 4 - 0 .
Insert bottom leads into pms 1&2of 9 pin socket Z
Cap goes to top lead 1

1K3 v g MR %
OK above 20 on meter scale. May show short on 1-3-5-8

2AH2
(Key at 2) Caution: - Lever 5 must be thrown to open position.

1 4 26 4 - - 0
Grid cap goes to top of tube. May show short on 3-4-7-8-9

B . o e SREEEE
t
9

a;ts) 4 4 A ’ 17 0 “
i f{?g goes to top of tube ;

4 3 29 4 -
Throw levers 1-2-3-6-7-8 to open position

2AZ2 5 3 20 4 - 1469 0
Levers 2-8 must be thrown to open position

R 2BA2 4 - ooyt 19  el9
elgnore glow on 1

2BJ2 Caution: - Levers 2-8 must be thrown to position "E'"
before inserting tube and must remain in position "E"
throughout all tests including short tests. S
5 3 44 3 1469 1469 0
May show short on 3-7 : 1y

2C50 TS ET. R N TR D : 12
" Trbde 7 ik DSl ~3 il = 45
2CN3 A 35 -8

* 2DS4 4 3 Qg =3 3 = 12

o

§ - L g 7 1246 01246
re glow on 1-4 e 2




 TUBE SECT A B C D CATH CONT TEST

2DZ4 B 24 -4 5 - 1267 j
: Must show short on 1-2-6-7 ‘
2EG4 P PR 3 < 1 |
3
2GU5 3 4 21 2 21 27 156 ,
c
0 z b
’\ 2GW5 3 4 20 2 ) 26 0126 1
g elgnore glow on 2
E o 2HAS5 SRR WEEAT 27 27 15
' Lever 2 must be thrown to open position
ki 2HKS M Nl e 217 27 15
| 2EM5 3334 98D 27 27 157 %
‘Q’L Lever 2 must be thrown to opén position
< 3 20 2 %l
4 4 23 2 3
4 8 18 3 0

elgnore glow on 2

3A78 Bep 5 5 a4 =3 3 5 1267
e S Tens 5. 5 T2 32 - : 89 ;
3AT2 p
(Key at 6) 5 a3 - 28 0

Lever 1 must be thrown to @p
Cap goes to tpp

3AW2 o

 _ (Key at 5) 4 & .15 4 = 17 0 ‘
s Cap goes to top of tube : \\
3AW3 N e 378 0
: |
~ 3BH2* Pag 4 20 4 - 14589 0 S
A *Must use Magnoval adapter. Cap goes to top of tube ; ;
L : - 'i
- . (Keyat 5) 4 5 16 4 - 167 0 9
E; 3 Cap goes to top of tube
~ 3BM2 :
A (Key at 5) 4 5 12 -2 -
f Cap goes to top of tube

k i
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A B C D CATH CONT TEST- '

3BN2
(Key at 6) 5 4 21 4 - 28 0
Lever 1 must be thrown to open position
Cap goes to top of tube
3CA3 2 5 26 4 - - 0
3CN3 RS S R 35 0 }
3CU3 R R s | - 8 0 J
3DZ4 ) 5 24 2 5 - 1267 ;f
Must show short on 1-2-6-7 : <
3DZ11 S v O 7 71 15 d
; &
e B T 1 30 2379 o
elgnore glow on 3 o
3 5 21 2 27 27
3 5 20 2 5 26
elgnore glow on 2
3HAS 3 4 21: =2 200 =i
Lever 2 must be thrown to open position
3HE7 250 : 3
(Key at 0) Di 1i2ed5 1673 4 -
*Caution: - Lever 5 must be thrown to open position
before inserting tube :
(Keyat8) Pen* 7 5 162 [ 3 - 46
3HF5 " - it
(Key at 4) e 5 28572 18 1278 . 2790 %E00
Must show short on 1278. Grid cap goes to top of tube ;
3HK5 B e B 27 27 15
3HM5 3 -4 22 2 27 27
Lever 2 must be thrown to open position i
3HM6 4 5 120 2 13 18
3HQ5 3 85 30 92 27 27 £
4 e ¥ 2350 “
4 5 28 F 502 - -
4 5 22:75%2 13 -

A e A S e



TUBE SECT A B C. D ‘
3JC6 S R e 13 13 278 5
3JD6 R TR s SRR e T
3KT6 PRB T ek 13 13 278 H
4AB8 Tri 4 6 25.2 3 - 12 i
L " Pen ok - X2 - - 689
\ 4AF4 - Ml L 5 1267 1726
: : elgnore glow on 1-2
4t  4D14 ¥ 6 iy Ed 2 13679 136798
Gt elgnore glow on 1-3-6-7
3 : ’ ]
Y{f 4ERS5 8.5 B0 % 17 17 25 \_‘
= P 4 T8 2178 13 13
Pen 4 6 200 2 - - |
8. 56 -2 17 17
S8, 20 .2 5 26
1ore glow on 2
3 .21 2 ” 1567 ,
Tri £ ‘o.M 2 13 13 89
Ben. 4 6 &30 2 & 3 267
: z?\ 4 $ 6 22 2 1 25 2567 ¢
> .“-\a elgnore glow on 2 R
& .".\ ‘
Bt L rar a2 27 27. 15"
- Lever 2 must be throw to open position H
Priogs 2 o7 . 8842 6 15
Bz 4 .7 26 3 9 e 12
Tri-1 1 6 26 2 4 : 79
Bef-2- 7~ 6 26 -2 9 - 48
Tri 4 i g 3 13 67 g
ORI e A 1 « 289
- = 2 27

21




5.
1 TUBE SECT A B C D CATH CONT TESE
4HM5 AR s 27 27 15
Lever 2 must be thrown to open position
4HMS6 & gy 2 13 13 278
. 4HQ5 PR s R 27 27 15
4HR8 4 e N -2 3 27 169
. 4HS8 1 e IR R SRR 1 = 2789
" Pene2 Xeoife . 8. 2 = = 2367
4HT6 Ol R 13 3 278
- Lever 3 must be thrown to open position
4JC6 et S 13 13 278
% 4JD6 4 bl 22 2 13 13 278 :
4THG g - | 3 - 156" -~ i
N 4JKS §.. g 217 2 2 - 156 :
4JL6 NS s g 2 5 ' 156
N 4KES Tri 4 6 24 2 8 - 195 =
" Pen 4 Ay 7 & 236 :
4KN8 PR-) AT B Ay 8 - 67
TR Tegigde 4 .- 6 2009 3 £ 12
. 4KT6 P ML R 13 13 278 ﬂ
" c4138 R e N RN T G 38 38 12
" Pen 5 U6 2D 3 & 679
- 4M-P12 RETE IS 2 2 156 :
4M-P26 G TR - BN 2 . 156 3
RS TR SR R e G - 67
- & Tri 4 TBegs R 3 : 12
4R-HHS Tri-1. 4 6 580 2 8 - 817 §
~ ” Tri-2 = 4 .6 ::90 -2 3 > 12
+ BAF4 3. o rageRg 5 1267 1726 ]
§ elgnore glow on 1-2 g
S Sy
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6.
TUBE SECT A B C D CATH CONT TEST
5AF11
(Key at 7) Pen 6 7 190 =3 3 - 459
(Key at 2) Di-1 1 i 19 3 9 - 56
(Key at 0) Di-2 1 7 19 3 5 - 68
5BC3 Di-1 1 8 12 1 - - 89
Caution: - Lever 2 must be thrown to open position
4 Di-2 1 8 10 1 - - 56
Caution: - Lever 2 must be thrown to open position
Must show short on 5-6-8-9. Fil Cont - 1-2-3
5CR8 Tri 4 7 22 2 8 - 19
1 Pen o 7 21 2 3 - 267
5DG4 Pl-1 1 8 25 2 - - 7
g Pl1-2 1 8 25 2 - - 5
5DJ4 Pl-1 1-2 8 9 2 - 3456 34
i Pl-2 1-2 8 9 2 - - 56
5EW6 3 8 20 2 2 - 156
5GJ7 Tri -4 9 21 2 13 13 89
u Pen - 9 20 2 - - 267
5GS7 Tri 4 8 21 2 38 38 12
4 Pen 4 8 20 2 - - 679
5GX6 3 ! § 23 2 2 - 1567
5GXT7 Tri 4 8 21 2 13 13 89
a4 Pen <+ 8 20 2 - - 267
5HAT
(Key at 3) 2 26 2 6 - 15
(Key at 5) 4 6 26 2 9 - 12
5HB7 Tri 4 7 23 2 13 13 89
& Pen 4 7 24 2 13 13 267
Lever 1 must be thrown to open position
5HCT
(Keyat 0) Tri-1 1 8 262 4 - 79
(Key at 6) Tri-2 7 8 28 2 9 - 48
5HGS8 Tri - 8 23 2 3 13 67
i Pen e 8 22 2 1 13 289



TUBE SECT A B C D CATH CONT TEST
5HZ6 4 8 17 3 2 - 156
5JK6 3 8 21 2 2 - 156
5JL6 3 _ 8 22 2 2 - 156
5KD8 Tri 4 8 22 2 8 - 19
i Pen 4 8 22 2 7 - 236
5KE8 Tri 4 8 24 2 8 - 19
T Pen 4 8 23 2 7 - 236
5KZ8 Tri 4 7 22 2 8 - 19
4 Pen 4 7 22 2 3 - 267
5LJ8 Tri 4 8 21 2 38 38 12
A Pen 4 8 20 2 - - 679
5MB8 Tri 4 8 20 2 3 - 12
i Pen 4 8 19 2 8 - 679
5M-HH3 T 3 14 23 2 7 - 25
4 Tri 3 7 23 2 7 - 16
509 Tri 5 9 22 2 1 - 90
3 Pen 5 9 20 2 2 - 378
5V9 7w S e 9 - 80
i Hep 5 8 21 2 1 - 347
5X9 Tri 5 9 22 2 i1 - 90
i} Pen 5 9 20 2 2 - 378
6AC9
(Key at 0) Di 1 9 16, 3 3 2
(Key at 7) Pen 6 9 20 2 6 - 345
6AC10
(Key at 5) Tri-1 4 9 21 ° 2 9 - 12
(Key at 0) Triz2 71 9 21 2 6 - 57
(Key at 3) Tri-3 4 9 o2t 2 6 - 15
6AD10
(Key at 2) Pen-1 1 9 200129 4 - 589
(Keyat 6) Pen-2 5 9 21 .2 2 - 134
6AF9 Pen-1 5 9 20 2 7 - 890
1 Pen-2 5 9 20 2 2 - - 134
May show short on 2 .

4




8. 5
TUBE SECT A B C D CATH CONT TEST
6AF11 b
(Keyat0) Tri-1 1 9 24 2 5 . 68
Tri-2 1 9 25 2 7 i 34
(Key at 5) Pen 6 9 25 2 1 - 237 | -
6AGY |
(Key at 0) TR M e 6 . 57
(Key at 6) B Tk 9 E - 348 U
BAG11
(Keyat8) Tri-1 9 9 22 2 4 . 23 [
Di~1 s g a2 6 = 5 X
(Keyat 2) Tri-2 3 9 207 =2 6 78
Pi=8 8- "9y 92 4 s 5
6AG12 '8 9 20 1 5 27 2 |
6AH9
(Key at 0) Tri TSR R L 4 56 23 :
(Keyat7) Pen 6 9 282 1 - 250
BAL11
(Keyat2) Pen-1 1 9 18 3 4 3 5689 -
(Keyat6) Pen-2 5 9 18 3 A 134 S
6AM5 Sie g A% g 2 % - 157 — ™
6ANG Bi-1- 49 - 208 - 2 S
" e 4 -9 183 - i 3
" S8 ¥ 9 20 3 - : 4
" e TRGEE TRNRE SR 2 i =
 GARS Penay 4 9 242 9 2 369 | [
" Pen-2 -4 9 24 2 £ 3 368
6ARI1 |. A N
B & W9 pPen2 3 9 21 2 8 : 4567
" (Keyat8) Pen-1 9 9 21 2 6 2 2345 ‘
6AS11 & S
(Keyat0) Tri-1 1 9 23 2 5 - 68
Tri-2 1+ 0 - 242 7 - 34
(Keyat 5) Pen 6 g0 i 1 L 237 \
6AV11 . ¢
(Keyat5) Tri-1 6 9 26 2 9 . 12 4 1
Tri-3 6 9 ‘*26 2 8 * A
(Keyat2) Tri-2 3 9 26 2 8 s 79




TUBE SECT A B C D- CATH CONT TEST
6AX3
(Key at 5) 6 9 24 2 0 29 029
elgnore glow on 2
6AY3 4 9 Q=22 9 27 027
elgnore glow on 2
6AY11
(Key at 0) Di-2 1 9 254 2 2 - 3
Tri-1 =% 9 280 52 9 - 78
Tri-2 1 9 - e 4 - 56
(Key at 4) Di-1 3 9 250 12 2 - 1
6B10 ; 3
Keyat 0) Tri-1 1 9 20 2 7 - 56
Tri-2 1 9 250 Y 2 - 34
(Key at 6) Di-1 1f 9 18 3 2 - 3
Di-2 7 9 18 3 - - 1
6BA3 4 9 4 1 9 27 2
May show short on 2-7
6BA11
(Keyat4) Pen-1 3 9 2 2 0 - - 678
(Key at 0) Pen-2 1 9 2452 8 - 346
(Key at 8) Trii 7 9 26. /2 5 - 46
6BC5 A T 27 27 156
Must show short on 2-17.
Cathode short test - throw 2- 7 together
6BD11 3
(Keyat 0) Tri-1 1 9 24 2 & 25 - 68
‘ Tri-2 1 9 255 2 7 - 34
(Key at 5) Pen 4 9 25 2 1 - 237
6BE3 e
(Key at 2) 1 9 23 2 9 60 60
Must show short on 6-0-
6BF8 Di-1 4 9 25 2 s - 9
! Di-2 4 9 25 <2 - - 8
i Di-3 4 9 25 .12 - -  §
A Di-4 4 9 25 2 - - 3
it Di-5 B 9 25 12 - - 2
& Di-6 4 9 25512 - - 1

A Dbt e

A KEY e

O




10.
TUBE SECT A B & D CATH CONT TEST
6BF11
(Key at 0) Pen-1 1 9 28 2 2 - 3567
(Key at 8) Pen-2 7 9 23 2 4 - 356
6BH11 .
(Key at 0) Tri-1 1 9 20 2 2 - 34
Tri-2 1 9 20 2 5 - 67
(Key at 7) Pen 6 9 20 2 5 - 234
6BJ3
(Key at 0) 1 9 24 =42 T - 4
6BK4 2 9 . 22 3 13468 13468 50
6BK8 4 9 26 2 3 27 169
6BK11
(Key at 5) Tri-1 6 9 249 9 - 12
| ; Tri-3 6 9 24 2 8 - Sl
(Key at2) Tri-2 3 9 242 8 - 79
6BN11
(Key at 7) Pen-1 6 9 20 2 2 - 135
(Key'at'z) Pen-2 1 9 20 2 4 - 567
6BR3 4 9.4 18 3 0 29 029
elgnore glow on 2
~ 6BS3 4.9 16 3% 9 27 027
’ elgnore glow on 2
6BT6 Tri 3 9 24 2 2 - 17
" " Di-1 3 9 26 3 - - 5
B Di-2 3 9 26 3 - - 6
6BV11
(Key at 7) Pen-1 6 9 21 2 EE2 - 134
(Key at 2) © Pen-2 1 9 21 2 7 - 568
6BW6 TR A i 3 12 1278
6BW11 :
(Kéy at 7)° Pen-1 6 9 21 2 4 - 235
~ (Keyat2) Pen-2 1 9 20052 4 - 567
6BY8 Pen 4 9 5 1 9 - 178
) Di 4 9 17 3 3 - 6




11.

SECT A B C D CATH CONT TEST

\f\ TUBE

6BY11
(Keyat 0) Pen-1 1 9 2112 2 - 3567
—_ (Key at 8) Pen-2 T 9 21 2 4 - 356
6BZ3
(Key at 0) 1 ReEage 3 7 h 4
”
6C9 Tet-1 4 9 24 2 6 - 789
Tet-2 4 9 24 2 0 - 123
™ 6CD3
(Key at 0) 1 9 200 =2 7 - 4
6CE3 ‘ : :
A (Reyat0) ) e Lot | OPRE 7 - 4 :
" 6CG3
\ (Key at 0) 1 9 16 - 7 - 4
:
6CG8 Tri 4 - 9 24 2 38 38 12 {
o Pen 4 9 23 B e - 679 I
]
% 6cH3 $ .9 20 2 9 27 2T E
elgnore glow on 2 :
i Foods 5, o0 e | e 9 27 Al =
j : Lever 7 must be thrown to open position
A\ 5 6CK3 47 2\GT g ) 9 27 027 -
\..-\ " elgnore glow on 2 ; : ol
6CK6 4 9 22 2 3 -
— 6CL3 .4 9 200 2 9 27
elgnore glow on 2 ]
6CM4 4 9 20 2 37 %
~ *Must show short on 1-2-3-6-7-8-9
y elgnore glow on 1-2-6-8
4 6CM5 B9 a8 2 38 1348
= ] May show short on 1-3-4-8
Cathode short test - throw levers 3-8 together
6CR8 Tri 4 9 - 22 2 8 -
. b Pen 4 9 2372 3 -
6DET7 Tri-1 4 9 9 1 8 23
& Tri-2 4 9 3 1 9 -
‘ﬁ

elgnore glow on 2




12,
TUBE SECT. A B € D CATH CONT TEST
6DL4 ‘ & 9. oy 2 13679 18
Levers 3-6-7-9 must be thrown to open position
6DM4 7t 9 24 2 3 - 5
6DQ4 7 9 18 3 3 - 5
6DR4 3 9 - S 7 15 0156
elgnore glow on 1
6DR7 Tri-1 4 9 28 . -2 8 23 67
1 Tri-2 4 9 2302 9 - 0123
elgnore glow on 2
6DS4 4 9798 3 3 5 12
6DT4 T 9 4 1 3 15 5
Lever 1 must be thrown to open position
6DV4 3 9 19 2 7 1246 1246
elgnore glow on 1-4
»
6DW4 4 9 4 1 9 2N 2
/ Lever 7 must be thrown to open position
6DY5 L. A T Y 3 s 279
" 6DZ4 : 8t oz o 5 . 1267
Must show short on 1-2-6-7
. 6DZS Tri 42 g Eoggieg 8 = 19
C Pen 4 O e=A3e. 2 - 367
6EA4 f e
(Key at 2) 1 9 260" 3 47 47 80
Grid cap goes to top of tube
6EC4* gl o anthls 0 278 278
-~ elIgnore glow on 27. Cap goes to top of tube 5
*Must use Magnoval adapter
6ED4* 4° 9 .33 2 .1 123679 g0
- *Must use Magnoval adapter
Cap goes to top of tube
 6EF4
’ 90

;‘-,;(I(ey at 3) . 2 9 .34 2 8 =
Cap goes to top of tube :

ki

b

./'ir' -

o o

C



elgnore glow on 3

N . -
13.
z -
\ TUBE SECT A B &/ D CATH @CONT . TEST
‘.
) 6EH4 ;
(Key at 2) 1 9 26 %3 47 47 80
Cap goes to top of tube X
|
'~ BEJ4
(Key at 3) 2 9 3517 2 8 15 90
"1 Cap goes to top of tube
6EX6 2 9 22 2 3 - 580
M 6FD6 3 .. G EEll i Y 7 e 1256
, 6FD10 3 10 .28 2 7 - 1256
\ 6FG6 Tri 5 9 2153 3 268
J i Eye b 9 0 4 - B 07268
, elgnore glow on 2-6. See instructions for eye test
\ 6FMT7
| (Key at 7) Tri-1 6 9 B0 '3 3 -
(Key at 2) Tri-2 1 9, 185t 9 -
F \ e
H 6FQT7 Tri-1 4 e 7 1 8 -
g Tri-23i et 7. 1 3 .
H 6FYT o
! (Keyath) Tri-1 4 9 8 1 1 ol
(Keyat2) Tri-2° 1 D 22 2 9 -
\ 6G11 3
‘ (Key at 6) Pen-1 7 9 23 2 2 -
: (Key at 2) Pen-2 1 9 25==D 4 -
& 6G-B3 2 9 18 3 8 =
" A :
. 6GBS5* " Gl R . Ty 38 12367§ 160 ¢ 28
Levers 2-7 must be thrown to open position =
*Must use Magnoval adapter. Grid cap goes to top of’ tube
6G-B7 R 8 s '
6GD7 M, Ay w20 2 38 38
i Pen 4 Qe .20 2 - -
6GES
(Key at 5) 6 9 23 502 29 2389




14 3

TUBE §CT - A . Be © ST CATHACONT . TEST
6GF5

(Key at 5) e P ) el 29 2389 7380

eIgnore glow on 3

6GFT Tpfadat 4 591 eog <=9 1 < 89

" Pri-2. sl w00k g 3 E 26

6GJ5 4, . e a0 3 1267 670

Levers 1-2 must be thrown to open position T

6GJ7 Tri POATIRR L e 13 13 89

" Pen 4. 9. 20439 . 2 267

6GKE 4 - FHE AN 1 39 2178

6G-K17 g SgESeren 3 2 5

6GLT Prtoge - i Y g6, 2 6 . 45

" A iy Rl ek ) A 3 R .

- 6GM5 4 g cadb Y ¥, ” 169

6GM8. ¥ Tri-1 9 28 / 2 8 - e

T 1f . o Ml SRS IR A ST s 3 & 12

Tri 1 9s 2 il 1 ” 23

Pen PR R ] 6 & 789

S SR e L s 9 2 8

a2, el . O el * g 7 - 6

Peg: 4 .oueEay 3 1 2 irig

gEys 2 3 1267 12679

o elgnore glow’g\n 12

Fac iy 2173 27 27 156
ust show short on 2-7

X\ Tri-1 9 943 8 5 87
NS 0 e i p A 12

1) 3w RN T 18 1278 2790
Mnst show short on 1- gl 8. Grid cap goes to top of tube
Cathode short test - throw 1 8 together

&1 192«-,- 237

bt g gt

PR e ) 68 68 19

rwb

e - e

— j - _IJ .

h
W Rl o 4 A AL



&5,
‘

6HBT O e G e R

1.5,
TUBE SECT A “B € :.D CATH CONT TESL
6GV8 Tri 4 9 24 2 3 .- 12
3} Pen 4 9 22 2 8 - 679
6GW5 ; 3 9 20 2 5 26 0126
elgnore glow on 2 %
6GW6 2 9 18 3 8 - 450
6GW8 Tri 4 9 267 2 2 . 19
f Pen- 4 9 23 2 7 - 368
6GX6 3 9 25 9 2 - 1567
6GXT Tri g g N gt ik O 13 13 89 :
o Pen 4 9 20 2 - - 267
6GX8 Iyl a9 21 2 9 - 18
g Eye 4 9 0 - 3 - 67
See instructions for eye test :
6GY5 i
(K ;7 at 4) 3 9 22 2 18 1278 © 2790 3
Must show short on 1-2-7-8 & > 7‘
Cathode short test - throw 1-8 together T A gl
6GY6 R L TR 3 g
6GYS8 _ Tri-1 4 9 28 2 i -
e $ri-2. 4. LSRRI 8 "t 8 -
Y Tt R R A R - @
6GZ5 P wisr .t 1/ 3T
5 elgnore glow on 2 >
A A
6HAS - 3 9 21 2 27 27
Lever 2 must be thrown to open position
6HA6 RO S . 1
elgnore glow on 6
. BHB5 ¥ ;
(Key at 0) 1 9. w2 4 %
6HB6 ; 4 9 22 2
elgnore glow on 36 :

Pen 4 9 24 2
Lever 1 must he thrown'to open positi



16.
TUBE SECT A B &/ D CATH . CONT - TEST
6HC8 Tri 4. gl S 8 - 19
" Pen - 9 18 3 2 - 367
6HD5
(Key at 0) S S 4 59 357
Lever 9 must be thrown to open position
- 6HES
(Key at 2) 1 9 19 3 6 0 4580
Must show short on 5-0
i 6HET : L )
3 (Key at 0) Di 1Rl 167 ime3 4 - g
' *Caution: - Lever 5 must be thrown to open position
before inserting
(Key at 8)  Pen* 7 9 T2 3 - - 46
f 6HF5
; (Key at 4) 3 9 23 2 18 1278 2790
? Must show short on 1278. Grid cap goes to top-of tube
~ Cathode short test - throw 1-8 together
Fri o4 9. 28 1 - 23
Pen 4 9 22— 2 - 6 - 789
9 7 1 2 Sl - " 01756
ST 90 -2 A o B S gsETy
Ml -wg | 19 BNEL Y3 13 89
&l 20 " 2 - - < 267
s
4 9 23 Tuid 1 - 2369
4 9 . 24 2" S :7 = 8
3 : 9 21 2 27 _ 7 15
& 10 F RS g 12 #1279
glow on 1 : 3 ¥
o Sk O R 8 - 19
J 7 21 R Ry R -
g '"zz/ ) 27 15
tbrown to open posit?m gl

,’)\ =T B




:
+

PR AR g gt e g g R

o

.
1
TUBE SECT ‘A 2 B«. €' D CATH CONT -TEST |
6HMS6 9 20 2 13 13 278 |
6HQS i I e - 2 B 15 |
6HR5 3 Mg oY 2 17 1756 |
_elgnore glow on 1 1
6HR6 - g ST | S 7 L
H : :
(Key at 0) 1 §oav 20 .2 4 -
6HS6 Foio AN LSS B Tin =
6HT6 Vg SRR | 13 -
Lever 3 must be thrown to open position
6HUSG Tri Mg R T 3 268
v Eye £ 9 R A - -
Levers 2-8 must be thrown to open position
See instructions for eye test .
6HUS Pensy g g Y g 7 =
1 Pz & P 2% 2 ¢ =
6HWS PR TR ) 7 2
6HZ6 & AT g2 4
6J9 Tri-1 4 %9 = 20802 0 %
" Tri<d 74 9% 206D - -
i Trixg s B e . 207 72 3 8
6310 e Y ,
ey ab:0). Pepd- 0.0 9 26 4, M. U1
(Keyat 6) Pen-2 5 9 18543 S 7
. " Y ; T s J : LA
(Key at 2) = Pen-2 3 9 PR ID 8
(Keyat8) Pen-1. 9 9 22 2 ¥
GIART h it e Te a2 3
£ et < A R0 RN 6 S
6JB6 S Lt adETias R
Levers 1-2 must be thrown to open




18.

SECT A B (6 D . .GATH [ CONT: 'TEST

6JC8

"

6JD6

6JE6

6JF6

6JG6

6JH6

6JK6

Tri 4 9 183! 17 7 89
Pen 4 9 1870 =3 e - 236
Cathode short test - throw 1-7 together
4 9 22 2_-~13 13 278
& 9. g0 3 1267 126780
elgnore glow on 12. Grid cap goes to top of tube
: RO S ) 3 1267 12670
elgnore glow on 1-2-6. Grid cap goes to top of tube
4 9 17543 3 17 279
Lever 1 must be thrown to open position
3 9 225402 2 - 1567
Sec-1 4 9 24 2 7 5 369
Sec-2 4 9 24 -2 - - 368
3 9 2122 2 - -156
PR " .‘r
Tricl o4 SR 8 o 67
Trir2 4 9. 8 73 531 * - 12
2 9 22 =2 2 - 156
e PR D 5 & 680

'd cap goes to top of tube

-\\V6 \L (o e S 1 il s 29 380
e AT R e 5
= 4 9 -23 2 8 Viaze 679
ok 20 9 5 16 .1680

g0es to top of t!!be s




TUBE SECT A B C D CATH CONT TEST
6JU8 Di-1 4 9 24 2 9 * 78
4 Di-2 4 9 24 2 98 - /|
'S Di-3 4 9 52 3 - 12
i Di-4 4 9 24 2 32 - . 1
*Must show short on 2-8
6JV8 Tri 4 9 18 3 - 23
- Pen 4 9 a3 - 789
6JW8 Pri 4 9 22 2 8 - 19
! Pen 4 9 21 2 7 - 236
6JX8 Tri 4 9 23 2 3 N - 89
- Hep 4 T 21 2 - - 267
6JZ6 :
(Key at 3) . 2 9 2042 5 - 780
Grid cap goes to top of tube -
6JZ8
(Key at 8) Pen> 9 9 23 2 4 12 01230
elgnore glow on 1
(Key at 5)  Tri 6 9 v 3 - 27
6KA8 Tri 4 9 24 2 3 - 12
= Pen 4 9 22 o1 3 - 6789
6KD6 { s
(Key at 4) 3 9 20 - 2 6 1278 2790
elgnore glow on 2. Cap goes to top of tube
6KD8 i 4 9 22872 8 -
3 Pen 4 9 2252 7 -
6KES R o ol SRE L :
& Pen 4 9 23 . 2 7 -
6KGE* g g T 2 9 123678
. *Must use Magnoval adapter. Grid cap goes to top of tube g
Levers 1-3 must be thrown to open position
6KL38 Pen 4 9 24 2 3 -
# Di 4 9 = 28 3 - -
6KM6 RIS o s Sk oo 1267
Levers 1-2 must be thrown to open position s
Grid cap goes to top of tube
o ; gt




- TUBE SECT A B C D CATH CONT TEST
6KM8 Di 4 9 97" <3 6 - 3 L
" Tel~l 4. e B g Sawd 2 178§
Ly Tet-2 4 9 6 1 7, = 278
" Tet-3 4 9 5 1 ~ 3 789 (7
6KN6 -
| (Key at 6) 2 9 20 5 8 4-9 02490 '
: elgnore glow on 4. Cap goes to top of tube L’
i 6KN8 Pric1* 4 58" T 8 it 67 .
! " 1 P ey 9 o) ey 3 = 12
- el "
6KR8 Tri 4 9 20 2 1 - 23
! 3 Pen 4 9 21 e T 2 789 !
4 . ; L e ;
L 6KS6 CRERT G ibn | A 1 2 2567 H
6KT6 4 9 L 13 319 278
6KTS o S 1 5 23 -
g T RO 6 = 789 y
* i 3A = (
x o
5 BT e - 789
WO 20 L2 3 17 279

4 i
st be thrown to open position

23
5221

- 23

% el
e -G 3 789

T

24
24

8 - 79
9 2 .

w1 RS
21

3

OO ©©® © ©V© ©©o

'wo wm
"-f
1
-
©

2
2
2
2_ 3 ¥
L3202 R e T
2
2
2




- TUBE  SECT A B C -D CATH CONT TEST

6LC6 2 9 3552 6 134 - 50
e  6LCS Tri 4 9 24 2 3 5 12
» " Pen 4 9 89 "2 /| 5 689
May show short on 3-7
» a2  6LE8 Pen-1 4 9 99 9 3 = 189
) " Pen-2 4 9 9 D) = < 689
6LF8 Tri 8- 24 2 1 z 23
» " Pen 4 9 0> S | 6 - 789
6LJ8 Tri 4 9 - B 38 38 12
-4 Pen 4 9 20 2 - - 679
-1
6LM8 Tri g B e 8 = 19
" Pen 4 9 29 % 7 5 236
™  6LN8 Tri 4 gy 2 8 - 19
.M Pen 4 9 T 7 o 236 N
6LQS Tri 4 g ety 15 2 23
) " Pen 4 9 20 "2 6 = 7-8-9
6LR8 Tri " el e S 1 & 89
e " Pen 4 9 20%+2 3 % 267
‘ 6LT8 Di-1 4 9 1553 7 - 5
" Di-2 = 9 16-.3 7 & 6
" Pen 4 9 . 1943 1 % 239
May show shart on 1
6L U8 -
5 (Key at 5) Tri 6 9 21 2 3 - 27
(Key at 8) Pen 9 9 2l 2 4 12 01230
elgnore glow on 1 ‘ e
s  6LXS Ty o dsenig 29009 8 . 185
il Pen 4 9 % 7 2 236
BLYS Tri 4 9 227 2 1 "R
et 1 Den 4 9 20 2 6 789,’
6M11 ;
(Key at 0)  Tri-1
1 N ri-2

(Key at 4)  Pen




22.
TUBE SECT A B- C D CATH CONT TEST.
{
6MB8 Tri 4 9 80, - 2 3 80, 12

" Pen 4 9 10t 9 8 5 679
6MD8 Tri-1 4 9 22 3 » 36 ‘

" Tri-2 4 9 22 2 - = .

" Tri-3- ¢ 7.9 22 2 : 3 19
6MES Sec-1 4 9% 2142 = 369 ‘

" Sec-2 4 9 ot o : & 368 H
6MF8 ; i
(Key at 8) - Pen 9 9 22r.5272 4 12 01230

elgnore glow on 1 \
(Key at 5)  Tri 6 9 21 Y 3 - 27 i
6MG8 Tri 4 g oF e 8 8 - 19 \

" Pen 4 9 21 .8 7 - 236 N
6M-HH3 Tri 3 9 ¢ 24 2 7 z 25 {

Tri 3 9 24 2 - - 16 L
i
\
Prié1 i 9 - g9.iry 3 * 68 |
Txi-2 23 \p:  2%-2 7 = 18 &
T R R T T A S 2 26 :
Binl M@ /9 - 1 % TR Liia 237 {
Pen-2 4 8 ko & = 278 \
Bl 68 95 2 9 % 12
Tri-3 6 9. 25 -3 8 & 37
Tri-2 - 3 B <258 8 = 79
& >
41 9 93 33 0 * 29
*May show short on all pins
e : A
e SR AT 4 :
A = 5
4 R L 8 z
R e SO 3 -
- 4 -“ 2
4 . 4p .5 §
£ -39 L) BT T =
4 O livilg g 0 29
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S ]

)

TUBE "SECT A B C.% D  'CATH _CONT . TEST
6R-P22 4 9 20 2 1 2389 0236
elgnore glow on 2. Throw levers 8-9 to open position
6T9
(Key at 4) Tri 3 9 25 2 9 - 68
(Key at 8) Pen 7 9 3 1 4 - 356
6T10
(Key at 6) Pen-1 5 9 ; {2 Flpet. 2 - 134
(Key at 2) Pen-2 1 9 19.53 P - 5789
6U9 Tri 5 9 22 2 1 - 90
" Pen B gL tups g 2 - 378
6U10
(Key at 5) Tri-1 4 9 26 2 9 - 12
(Key at 0) Tri-2 - 1 9 P T 6 - 57
(Keyat3) Tri-3 4 9 26 2 6 - 15
6V9 Tri . s 9 204502 9 - 80
Y Hep , V%85 9 21 2 1 - 347
6X9 Tri o 9 22 2 i § - 90
i Pen 5 9 20 2 2 - . 378 ]
6Y9 Pen-1 5 9 20-. .2 7 - 890 3
" Pen-2 5 9 20 52 2 - 134 }
6Y10 -
(Key at 6) Pen-1 5 9 21 2 a2 - 134 :
(Key at 2) Pen-2 1 9 201 2D 4 - 5789 !
6210 , : =
(Key at 0) Pen-1 " 0 9 26 4 8 1 4567
(Keyat6) Pen-2 5° 9 183 9 1 248 e
. /‘
TGS7 Tri 4 107 P A 38 38 12 a
1 Pen 4 3 1SR e - - 679 Ve
GV7 B SR RS T 68 68 19 1
- Pen 4 10w 19" e - - 237 Y
Cathode short test - throw 6-8 together
TKY6 4 1020 2 1 39 2178
TKZ6 - - 10 21 2 1 39 278
8A8 Ter . ok, a8 o4 2 8 £ 19 :
TR Pen + 12 24 2 7 - 236




24,
TUBE SECT A B C D CATH CONT TEST
8ACY
(Key at 0)  Di iy 1. -89 3 3 2
(Key at 7)  Pen @ 11 80,2 6 - 345
8AR11
(Keyat2) Pen-2 §° 11 “21 .2 8 = 4567
(Key at 8) Pen-1 9 Tl RS 1 S 6 - 2345
8B8 Tri 4 10 25 2 8 ’ 19
" Pen” 4. 10 282 2 - 367
8B10
(Keyat 0) Tri-1 1 11 25 2 7 - 56
Pei-d T 11 250 2 % 34
| (Keyat6) Di-1 7 11 18 3 2 5 3
| Di-3. "B S g - . 1
| 8BA11 :
‘ (Key at 4) Pen-1 3 11 24 2 0 - 678
t (Keyat 0) Pen-2 1 11 24 2 8 < 346
| (Key at 8)  Tri gt ad . et 2 5 = 46
.. gBMIl
(Key at 0) Pen-2 1 i Lieth S e 5 - 236
B (Keyat8) Pen-1 7 11 21 2 5 - 246
~ 8BN11
B ®eyat7) Pen-1 6 11 =20 2 2 5 135
(Key at 2) Pen-2 1 11 200" 2 4 - 567
. 8BQ7 Tri-1 4 10 24 2 8 d 617
E 5 " Tri-2 4 10 24 2 3 - 12
% ~ 8BQ11
i}‘; Keyat2) Pen-2 3 11 19 2 8 5 457
N (Reyat8) Pen-1 9 11 19 2 6 : 345
il’a““ ¢ 3 X
., sBUU
(Keyat0) Tri-1 1 10 21 2 2 # 34
‘ Ypiig 1 10 20 3 5 2 67
l*'» (Key at 7)  Pen 6 10 52882 5 = 234
L. scLs Tri L (e S 3 . 12
" Tet £ g a2 8 g 679
: 8CY5 AR G L 27 27 156

re
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TUBE SECT. A B G D CATH CONT TEST
8DX8 Ll 4 11 23 2 3 - 12
g Pen 4 11 23 2 7 - 689
8FQT7 Tri-1 4 L 6 1 8 - 67
1t Tri-2 4 11 6 1 3 - 12
8GJT Tri 4 11 21 2 13 13 89
It Pen 4 11 20 2 - - 267 .
8GM6 3 11 21 2 2 - 1567
8GN8 Tri 4 11 24 2 1 - 23
2 Pen 4 13 22 2 6 - 789
8GU7 Tri-1 4 11 24 2 8 - 67
4 Tri-2 4 11 24 2 3 - 12
8GXT7 Tri 4 10 21 2 13 j 89
' Pen 4 10 20 2 - - 267
8HAG6 4 11 22 2 1 3689 2687
elgnore glow on 6
8HGS8 Tri 4 11 23 2 3 13 67
\ Pen 4 11 22 2 1 13 289
8JK8 Tri-1 4 11 18 3 8 - 67
3 Tri-2 4 11 18 3 3 - 12
8JT8 Tri 4 10 23 2 1 - 23
# Pen 4 10 21 2 6 - 789
8JU8 Di-1 4 2 [i § 24 2 9 * 78
i Di-2 4 11 24 2 98 - i
b Di-3 4 11 24 2 3 - 12
9 Di-4 4 11 24 2 32 - 13
*Must show short on 2-8
8JV8 Tri 4 11 18 3 1 - 23
o Pen 4 11 17 3 - - 789
8KAS8 Tri 4 i % | 24 2 3 - 12
u Pen 4 11 22 2 32 - 6789
8KT8 Tri DT L S 1 2 23
m Pen 4 kL 20 26, 6 - 789



T

26.
TUBE SECT A B G D CATH CONT TEST
8LC8 Tri 4 10 © 24 2 3 5 12
A Pen 4 D05 422252 7 5 689
May show short on 3-7
8LES8 Pen-1 4 11 22 2 3 - 189
" Pen-2 4 11 22w 2 - - 689
8LT8 Di-1 4 11 16~ =13 If - 8
= Di-2 4 11 165,53 7 - 6
X Pen B s il 14 2 ik - 239
May show short on 1
8R-HP1 Tri 4 WO ) 8 - 19
L Pen - HO 23 52 2 - 367
8U9 Tri 5 100 22 2 it - 90
i Pen 5 10752052 2 - 378
8X9 Tri 5 10 22 2 1 : 90
¥ Pen 5 10 20 2 2 - 378
9A8 Tri 4 12 24" 2" 8 - 19
L Pen 4 12~ 224" =D 7 - 236
9AB4 3 12 022 12 7 - 16
9BJ11
(Key at 0) Pen-2. 1 1 S (S 5 - 236
(Keyat8) Pen-1 7 -12 16 = 2 5 - 246
9CG8 Eri LS 12 24 2 38 38 12
o Pen 4 ) T o - - 679
9DZ8 2Tri 4 12 28 2 8 - 19
W Pen 4 D N0 8 D 2 - 367
9EA8 Tri 4 12 o 99 D) 8 - 19
\ Pen 4 12 4 200D [ - 236
9ED4* 4 10 32 2 1 123679 80

Cap goes to top of tube
*Must use Magnoval adapter

-

—

&<
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TUBE SECT A B @ D CATH CONT TEST
9FG6 Tri 4 6 34 2 3 268 19
4 Eye* 4 6 0 4 - - 67
*Levers 2-8 must be thrown to open position
See instructions for eye test
9GHS8 Pri 4 12 22 2 8 - 19
% Pen 4 12 22 2 7 - 2-3-6
9GV8 Tri 4 12 24 2 3 - 12
p! Pen 4 12 22 2 8 - 679
9JW8 Tri 4 12 22 2 8 - 19
i Pen 4 e | 2 7 - 236
9KC6 & oo 20 2 1 . 279
9KV8 Pri 4 11 23 2 1 - 23
b Pen 4 11 21 2 6 - 789
9KZ8 Tri 4 12 22 2 8 - 19
n Pen 4 12 22 2 3 - 267
9LA6 ! 11 21 2 1 39 278
9R-AL1l Tri-1 4 11 25 2 8 23 67
i Tri-2 4 11 21 2 9 - 0123
elgnore glow on 2
9R-HR2 Tri- 4 12 22 2 8 - 19
" Pen 4 12 22 2 7/ - 236
9VvV9 Tri 5 12 20 2 9 - 80
i’ Hep 5 12 21 2 1 - 347
10AL11
(Key at 2) Pen-1 1 12 18 3 4 3 5689
(Key at 6) Pen-2 5 12 18 3 2 7 134
10CW5 4 12 s S 3 * 126789
elgnore glow on 1-6-7. May show short on 1-2-6-7-8-9
10DX8 U SRR L 3 - f A
- Pen e 12 23 2 7 - 689
10EM7 Tri=1 = 12 26 .2 6 - 45
Y Tri-2 == 7. 22 2 3 - 12

12

SRS il i i ———




28.

TUBE SECT A B (6; D CATH CONT TEST
10FD12 Pen 4 16 24 2 3 - 1269
t Di-1 4 16 21 3 - - 7
s Di-2 4 16 21 3 - - 8
10GF7 Tri-1 4 12 29 2 1 - 89
H Tri-2 4 12 23 2 3 - 26
10GHS8 Tri 4 12=5 52052 8 - 19
¥ Pen 4 12 22 2 7 - 236
10GK6 4 127293 =0 1 39 02379
elgnore glow on 3
10GN8 Trd 4 12 24 2 1 - 23
i Pen 4 12 22 2 6 - 789
10HA6 4 12 22 2 1 3689 2687
elgnore glow on 6 :
10HF8 TPri 4 12 24 2 1 - 23
" Pen 4 128 9252 6 - 789
10JA8 Tri 4 12 24 2 1 - 23
" Tet -4 12 24 2 6 - 789
10JT8 Tri = 12 23 2 1 - 23
3 Pen- B 12 21 2 6 - 789
10JY8 Tri 4 12 2 gae 3 1 - 23
y Pen 4 12 18 583 6 - 789
10KR8 Tri 4 127220122 1 - 23
i Pen 4 2 2002 .6 - 789
10KU8 Bl M/ 12 253 1 3
i Di-2 4 12 25 3 1 - 2
o Pen 4 12 22 2 6 - 789
10L.B8 Tri - 12 29 2 1 - 23
i Pen 4 12 PR 2 6 - 789
10LD12 Tri 4 18 25 2 7 - 89
A Di-1 4 18 = "25E 8 - - 6
UELS Di-2 4 18 A S 3 2
e Di-3 4 18 17 3 - 1
10LD13 Tri 4 13 8 1 3 79 12
1 Di-1 4 13 26 3 - - 8
i Di-2 4 13 26 3 - - 6



29.
TUBE SECT A B C D CATH CONT TEST
10LES Pen-1 4 12 22 2 3 - 189
i Pen-2 4 12 22 2 - - 689
10LW8 Tr: - 12 24 2 1 - 28
4 Pen 4 12 20 2 6 - 789
10LZ8 i 4 12 22 2 1 - 23
i Pen 4 12 20 2 6 - 789
11AR11
(Key at 2) Pen-2 3 12 21 2 8 - 4567
(Key at 8) Pen-1 9 12 21 2 6 - 2345
11BMS8 Tri 4 13 23 2 8 - 19
i Pen B 13 23 2 2 - 367
11BN11
(Key at 7) Pen-1 6 12 20 2 2 - 135
(Key at 2) Pen-2 1 125207 32 4 - 567
11BQ11
(Key at 2) Pen-2 3 12 19 2 8 - 457
(Key at 8) Pen-1 9 12 10 =2 6 - 345
11BT11
(Key at 2) Tri-1 1 12 23 2 8 - 79
(Key at 5) Tri-2 4 12 21 2 9 - 18
(Key at 6)  Pen 5 221 W9 1 - 348
11CY7 See-1’ 4 12 28 2 g . 67
A " Sec-2 4 12 23 2 9 23 0123
elgnore glow on 2 -+ i
11FY7
(Key at 5) Tri-1 4 et g 1 1 - 23
(Key at 2) Tri-2 1 12 22 2 9 - 57
11HM7 6 8 20 2 )| 3459 278
11KV8 Tri < 4 .12 23 .2 1 % 23
i Pen 4 12 2 2 6 - 789
111.Q8 Tri 4 12 20 2 3 - 23
i Pen 4 19 20 2 6 - 789
11Y9 Pen-1 5 12 20 2 7/ - 890
i Pen-2 5 il 20 2 2 - 134

b s b B i e

T o



30.
TUBE SECT A B (&, D CATH CONT TEST
12AE10
(Key at 6) Pen-1 5 13 16 3 2 - 134
(Key at 2) Pen-2 1 13 16 3 4 - 5789
12AF4 3 13 23 2 5 1267 01726
elgnore glow on 12
12AJ7 Tri < 13 25 2 3 - 89
A Hep 4 13 23 2 3 - 126
12AL11
(Key at 2) Pen-1 1 $3 S IR 4 3 5689
(Key at 6) Pen-2 5 13 5 #IBS £ N3 2 (f 134
12AU8 Txi B 13 24 2 1 - 23
" Pen 4 13 24 2 6 - 789
12AW6 3 13 22 2 2 - 156
12AX3
. (Key at 5) 6 13 24 2 0 29 029
elgnore glow on 2
12AX12 7 13 23 2 0 28 281
12AY3 4 13 24 2 9 27 027
elgnore glow on 2
12B-B14* 4 130020 2 38 123678 12670
eIgnore glow on 16. Cap goes to top of tube
*Must use Magnoval adapter
~ 12BE3
(Key at 2) 1 13 232 =2 9 60 60
Must show short on 6-0
12BF11
(Key at 0) Pen-1 1 13 28 2 2 - 3567
(Key at 8) Pen-2 7 13 - 232 4 - 356
12BR3 4 13 18 '3 0 29 029
elgnore glow on 2
12BS3 4 13 16 3 9 27 027
elgnore glow on 2
12BT3 :
(Key at 0) 1 13 2 4 7 - 4

o



Levers 1-2 must be thrown to open position

» 31.
‘ - TUBE SECT A B C D CATH CONT TEST
' 12BV11
" (Key at 7) Pen-1 6 13 21 2 2 - 134
- (Key at 2) Pen-2 1 13 21 2 f - 568
) 12CK3 4 18- 12002 9 27 027
elgnore glow on 2
"f 12CL3 4 9 20 2 9 217 027
f elgnore glow on 2
=~  12DA6 4 i R T 3 16 2178
12DK6 3 . 28 9 3 2 - 1567
' m 12DM4 7T 13 24 2 3 - 5
' 12DM7 Tri-1 9 9 27 2 8 45 67
" Tri-2 9 9 a7 2 3 - 12
F'\
| 12DQ4 7 13 18 3 3 - 5
12DT7 Tri-1 9 9 an: -2 8 45 67
=~ w Tri-2 9 9 L Sl 3 2 12
12DZ8 Tri 4 28 8 8 . 19
" Pen 4 13- <30 .3 2 = 367
B
| 12FQ7 Tri-1 4 13 9 1 8 - 67
e Tri-2 4 18 4 1 3 & 12
™% 12Fs5 3 13 (22373 27 27 156
12FV7 Tri-1 5 9 18 3 8 49 67
b ¥ Tri-2 4 9 18 -3 3 59 12
12FX5 3 5 R 1 25 267
| Lever 5 must be thrown to open position .
“t 12G11
(Key at 6) Pen-1 7 I35 023240 2 - 134
| (Key at 2) Pen-2 1 13 25 2 4 - 5689
| 12G-B3 2 1829 8 - 450
12GC5 4 13 .28 4 7 1363 18369
- elgnore glow on 13
| 12635 4 13 "= 2 3 ZaARy

_ 670

ot il . st R



32.
TUBE SECT A B & D' . GATH:*,CONT ~TEST
12G-K17 7 13 7 1 3 - 5
12GN7 6 9 21 2 il 39 278
12GT5 4 13 23 2 3 1267 012679
elgnore glow on 12
12GW6 2 13 18 3 8 - 450
12HE7 ;
(Key at 0) Di 1 13 163 4 - 2
*Caution:- Lever 5 must be thrown to open position before
inserting tube
(Key at 8)  Pen* 7 1:3v. S 6= 22 3 - 46
12HGT7 6 9 20 2 1 39 2178
12HL5 4 13 21 2 3 12 01279
: elgnore glow on 1
12HL7 6 9 20732 ik 3459 39278
| elgnore glow on 3
12JB6 4 13 18 3 3 1267 670
Levers 1-2 must be thrown to open position
12JN6 :
(Key at 5) ; 6 13 21 2 7 29 380
E
@ s 12JN8 Tri - 13 22 2 3 - 12
B 4 . Pen - 13 23wy 8 - 679
12JS6
{Key at 3) 4 13 2022 5 16 01680
eIgnore glow on 1. Grid cap goes to top of tube
- 12JT6 VNS i 3 17 279
Lever 1 must be thrown to open position
12J78
(Key at 8) Pen 9 135523 2 4 12 01230
elgnore glow on 1 ,
(Key at 5)  Tri 6 135 26D 3 - 27
12KA8 AWl - 180724 2 3 - 12

= Pen 4 1222 0d 3 - 6789



- N

-3

g ™Y

{
. _—-: _J

33.
TUBE SECT A B (G D CATH : CONT TEST
12KL8 Pen 4 13 24 2 3 - 1267
p Di -+ 13 28 3 - - 8
12MD8 Tri-1 4 13 22 2 7 - 36
o Tri-2 4 13 22 2 - - 28
¢ Tri-3 4 13 22 2 - - 19
12R-K19 - 13 1% 3 0 29 029
elgnore glow on 2
12R-LL5 Tri-1 4 13 7/ il 8 - 67
. Tri-2 4 13 7 1 3 - 12
12T10
(Key at 6) Pen-1 5 R3S LEqgL 73 2 - 134
(Key at 2) Pen-2 1 il . 19 3 4 - 5789
13CM5 2 13 23 2 38 1348 459
Must show short on 1-3-4-8. :
Cathode short test - throw 3-8 together
13CW4 4 13 17 3 3 - 12
13CW9 -4 12 17 3 3x: - 27
13FM7 .
(Key at 7) Ixi=1"% 6 13 19 3 3 - 45
(Key at 2) Tri-2 4 13 19 3 9 - « "5
13GB5* S 13 20479 38 123678 160
*Must use Magnoval adapter. Grid cap goes to top of tube.
Levers 2-7 must be thrown to open position
13GF7 Tri-1ts 4 L 29 2 1 - 89
1 o Tri-2 4 13 23 2 3 - 26
13J10
(Key at 0) Pen-1 0 13 26 4 8 1 4567
(Key at 6) Pen-2 5 13 18 3 9 7 248
13JT8 Tl 4 13 23 2 1 - 23
! Pen 4 13 21 2 6 - 789
13V10 : -
(Key at 0) Pen-1 1 18 =28 2 2 - 367
(Key at 8) Pen-2 7 13 21 2 sl - 356
13Z10 : »
(Key at 0) Pen-1 0 13 268 4 8 1 4567
(Key at 6) Pen-2 5 13 18 3

9 7 248

o i




TUBE SECT
14BF11
(Key at 0)  Pen-1
(Key at 8)  Pen-2
14BL11
(Key at 0)  Tri-1
(Key at 5)  Tri-2
(Key at 7)  Pen
14BQ11
(Key at 2)  Pen-2
(Key at 8) Pen-1
"™ 4BR11
(Key at 0)  Tri-1
(Key at 5)  Tri-2
Pen
14GW8 Tri
o Pen
14JG8 Di-1
12 Di-2
A Tri
15A6
15AF11
(Key at 7)  Pen
(Key at 2) Di-1
(Key at 0)  Di-2
15AQ3
elgnore glow
15BD11
(Key at 0)  Tri-1
Tri-2
(Key at 5) Pen
15CW5
elgnore glow
15DQ8 Tri
i Pen
15FM17
(Key at 7)  Tri-1
(Key at 2)  Tri-2

A
34.

A B C D CATH CONT TEST
1 13 .28 2 2 3567
7/ j R TR 4 356
1 14 22 2 6 57
- 14 20 2 9 18
6 4. 20 2 2 459
3 14 - 10; "2 8 457
9 4 19 2 6 345
1 14 23 2 5 68
4 14 23 2 0 12
4 14 21 2 9 3178
4 14 26 2 2 19
4 14y #2352 7 368
4 14 718 &3 3 2
+ 145118 =3 1 6
4 14 19 3 7 89
4 14 - 20852 3 1267
6 14 A9 =8 3 459
1 14 =19 9 56
1 14 - 195 =3 5 68
4 14. 23 <« 2 0 389
on 38. *Cont test - 1236789
1 14 24 2 5 68
1 14, H20 2 /4 34
4 14 26 =2 O 237
4 14T 2150 3 0126978
on 1-6. May show short on 1-2-6-9-7-8.
4 14- =23 =2 3 12
4 14 24 2 7 689
6 14- St -3 3 45
1 14 - SN 3 9 57



|
| @

elgnore glow on 2

35.
TUBE SECT A B C D CATH CONT TEST
15FO7 5 14 19 =2 0 - 12
15FY"7
(Key at 5) Tri-1 4 14 8 1 1 - 23
(Key at 2) Tri-2 1 14 22 2 9 - 5
15HAS6 = 14 22 2 1 3689 2687
elgnore glow on 6
15HB6 L 14 22 2 1 3689 236789
elgnore glow on 3-6
15KY8 Tri 4 14 25 2 1 - 89
u Pen 4 14 21 2 3 - 267
15LE8 Pen-1 4 14 - 22 -2 - 189
i Pen-2 4 . =225 62 - - 689
16A5 4 15 | 21 2 3 - 279
16A8 Tri -4 15 24 2 8 - 19
o Pen 4 15 21 2 2 - 367
16GK6 4 15 23 2 1 39 2178
16GY5
(Key at 4) 3 14 22 2 18 1278 2790
Must show short on 1-2-7-8
Cathode short test - throw levers 1-8 together
16KA6
(Key at 4) 3 14 20 2 it 28 790
Cap goes to top of tube
16Y9 Pen-1 5 15 20 2 7 - 890
he'l Pen-2 5 5 =207 52 2 - 134
17A8 Tri 4 15 24 2 8 - 19
4 Pen 4 15 24 2 7 - 236 .
17AB10
(Keyat 6) Pen-1 5 HH 20D 9 - 248
(Key at 0) Pen-2 0 15 24 4 8 - 4567
17AX3
(Key at 5) 6 185 ~arodeer 52 0 29 029
elgnore glow on 2
17TAY3 4 1i5. 4724 2 g s TiaNER o217

s

P




36.

TUBE SECT A B C B ATH CONT. TEST
17B4 2 15 .8 1 = = 35
178B-B14* 4 15; . 220852 38 123678 12670

elgnore glow on 16. Cap goes to top of tube
*Must use Magnoval adapter

17BD11
(Keyat 0) Tri-1 1 15 -+ 2L = 0D 5 - 68
Tri-2 1 15: 125 %2 i - 34
(Key at 5)  Pen -4 15 - 520s " 2 1 - 2317
17BE3 . -
(Key at 2) 1 BT SRR 9 60 60
Must show short on 6-0
17BF11
(Keyat 0) Pen-1 1 152287 2 2 - 3567
(Key at 8) Pen-2 7T BhL 528 2 4 - 356
17BJ6 N 15 08 2R -2 - 1567
17BR3 4 DE2S ) 2 0 29 29
elgnore glow on 2
17BS3 4 15 6 e 9 27 0217
elgnore glow on 2
17BZ3
(Key at 0) 1 157 S165 3 7 - 4
17C9 Tet-1 4° 15 24 2 6 - 789
¥ Tet-2 4 15 24 2 0 - 123
17CK3 4 10t 4120 5enD 9 21 027
. eIgnore glow on 2
17CL3 ¢ - 44 20 2 9 27 027
elgnore glow on 2 : 5
17DM4 7 15, 24" -2 3 - 5
17DQ4 : i 157 1883 3 - 5
17DW4 - 154 1 9 27 2
Lever 7 must be thrown to open position
17TFY7
‘(Key &% 5) Tri-1 4 15.*%8 1 1 - 23
(Key at 2) Tri-2 1 15 3222 9 - 57
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3. A
TUBE SECT A B (e D CATH  CONT' = TEST
17GE5
(Key at 5) 6 15 23 2 29 2389 #7380
elgnore glow on 3
17GJ5 4 15 24 2 3 1267 670
Levers 1-2 must be thrown to open position
17GT5 4 15 23 2 3 1267 012679
elgnore glow on 12
17GT6 1 15 28 2 2 - 3567
17GV5
(Key at 4) 3 15 24 2 18" 1258 2790
Must show short on 1-2-7-8
Cathode short test - throw levers 1-8 together
17GW6 2 15 18 3 8 - 450
17GY5 o
(Key at 4) 3 15 22 2 18 1278 2790
Cathode short test - throw 1-8 together
17H-B25* 4 15 21 2 9 123678 12670
elgnore glow on 16. Cap goes to top of tube. °
*Must use Magnoval adapter
17HCS Tri 4+ 35 48 A 8 - 19
" Pen 4 15 18: =<3 2 - 367
17THGS8 Tri 4 15 .23 2 3 13 67
iy Pen 4 D 29 2 1 - 289
17JB6 W i e (g N 1267 670
Levers 1-2 must be thrown to open position
17JG6 4 U5 T VRERL R o 17 7% 399
Lever 1 must be thrown' to open position ;
17JK8 Tri-1 4 15 18 3 =<8 - 67
i Tri-2 4 15 18 =3 B - 12
17JM6 : A= _ :
(Key at 3) 2 15 21 2 5 - 680
Grid cap goes to top of tube
17JN6 -
(Key at 5) 2 6 15 21 2 7 29 - 380

P,




38.

TUBE SECT A B € Iy ‘CATH - 'CONT -  TEST
17JS6 B
(Key at 3) 4 15 20 2 5 1-6 01680
elgnore glow on 1. Grid cap goes to top of tube
17JT6 4 1505 =23 2 3 17 279
Lever 1 must be thrown to open position
17JU6 :
(Key at 3) 4 15 200 2 5 16 01680
eIgnore glow on 1. Grid cap goes to top of tube
17JZ8
(Key at 8)  Pen 9 15: v 23~ 72 4 12 01230
elgnore glow on 1
(Key at 5) Tri 6 j B s e 3 - 27
17L.D8 Tri - The £25- .2 1 - 89
3 Pen 4 Wor -~ 2% 2 3 - 267
17TW6 2 15 712 2 8 - 345
17X10
(Keyat 0) Pen-1 0 155 920 4 8 1 4567
(Key at 6) Pen-2 5 15 Tt =3 9 i 248
18DZ8 Tri - 4. ¥ 28 2 8 . 19
v Pen 4 1823 2 2 - 367
18GD6 3 16 23 2 7 - 156
18GV5
(Key at 4) 3 16 24 2 18 1278 2790
Grid cap goes to top of tube
18GV8 Tri 4 16 24 2 3 C - 12
" Pen i 16 D2 a2 8 - 679
19AJ8 Hep 4 16 23 2 3 - 126
4 Tri S 16 24 2 - - 89
19AQ5 3 : (i = 4 1 2 17 01756
elgnore glow on 1
19BR5 N s 4 16 7 1 36%‘\ 17
# Eye 4 16 0 4 - 7369

See instructions for eye test

19BX6 4 6 - =oae D i3 13 2897
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39.
TUBE SECT A B € D CATH CONT TEST
19BY7 4 16 23 2 13 13 2789
19CG3
(Key at 0) 1k 16 16 3 7j - 4
19DE7 Tri-1 4 16 9 1 L 8 23 67
i Tri-2 4 16 3 1 9 - 123
sIgnore glow on 2
19EW7 Tri-1 4 16 27 2 8 - 67
" Tri-2 4 16 23 2 9 23 123
elgnore glow on 2
19EZ8 Tri-1 4 16 20 =52 - - 89
" Tri-2 4 16 27 2 - - 67
” Tri-3 4 16 23 2 1 - 23
19GQ7 Di-1 4 16 17- +3 9 - 8
v Di-2 4 16 17 =3 7 - 6
it Di-3 4 16 17 3 1 - 2
19HR6 3 16 21 2 7 - 156
19HS6 3 16 22 2 7 - 1256
19JN8 Pen 4 16 23 2 8 - 679
i 'Tri 4 16 22 2 3 - 12
19KF 6* 4 16 20 2 3 17 01679
elgnore glow on 1-6
*Must use Magnoval adapter
19KG8 Fri 2 16 22 2 3 - 12
L Pen 2 16 22 2 8 - 679
19Q9 Tri 4 16 21 2 7 - 89
4 Pen 4 16 20 2 0 - 123
19Y3 4 13 3 1 3 - 9
20AQ3 - 16 23 2 0 * 389
elgnore glow on 38 - *Cont test - 1236789
21A6 4 17 21 2 3 16789 .280
Lever 7 must be thrown to open position
21AK6 3 17 110,41 o 7 - 1256
21EX6 2 10022 2 3 - 580




& 40,

TUBE SECT A B € D CATH CONT TEST

21GY5

(Key at 4) 3 17 22 2 18 1278 2790
Cathode short test - throw 1-8 together

21HB3 2 22 18 2 - - 2790

21HB5

(Key at 0) 1 17 22 2 4 - 237

21HD5

(Key at 0) 1 17 20 2 4 59 357
Lever 9 must be thrown to open position

21HJ5

(Key at 0) 1 17 20 2 4 59 03579
elgnore glow on 57 )

21JV6

(Key at 5) 6 17 21 2 i 29 023890
elgnore glow on 2-3-8

21JZ6

(Key at 3) 2 17 20 2 5 - 780
Grid cap goes to top of tube

*

21KA6

(Key at 4) 3 19 20 2 1 28 790
Cap goes to top of tube

21KQ6* - 17 20 2 9 123678 @130
elgnore glow on 1 . Cap goes to top of tube
*Must use Magnoval adapter

Levers 6-8 must be thrown to open position
21LR8 Tri 4 17 21 2 i - 89
4 Pen Bl 17 20 2 3 - 267

21LU8

(Key at 5) rri 6 17 21 2 3 - 27

(Key at 8) Pen 9 17 21 255 4 12 01230
elgnore glow on 1 :

22AL3 TR o SN 0 * 9
*Must show short on 1-2-3-6-7-8

Levers 1-2-3-6-7-8 must be thrown to open position
22BW3
(Key at 0) 1 17 ! 3 7 - 4

|



41.

TUBE SECT A B C D CATH CONT TEST
22JF6 4 il 20 2 3 1267 012670
elgnore glow on 1-2-6. Grid cap goes to top of tube
22JG6 < 17 1% 3 3 17 279

Lever 1 must be thrown to open position
22JU6 4 157 20 2 3 1267 12670
vignore glow on 1-2-6. Grid cap goes to top of tube
22KM6 -4 s 21 2 3 1267 670
Throw levers 1-2 to open position. Cap goes to top of tube
23JS6
(Key at 3) 4 1 20 2 5 16 01680
elgnore glow on 1. Cap goes to top of tube
2379
(Key at 5) Tri-1 4 17 27 2 0 - 78
Tri-2 4 14 24 2 - - 23
(Key at 7)  Pen 6 TR 2 1 - 230
24JE6 4 18 23 2 3 1267 0126780
elgnore glow on 12. Cap goes to top of tube
25CG3 -
(Key at 0) 1 18 16 3 7 - 4
25DT5. 4 18 28 2 7 36 01369
elgnore glow on 3
26AQ8 Tri-1 4 18 22 2 8 - 67
! Tri-2 4 18 22 2 3 - 12
26JG6 4 18 107e el 3 L 279
Lever 1 must be thrown to open position
27GB5* - Bds 922 2 38 123678 160
*Must use Magnoval adapter. Grid cap goes to top of tube
Levers 2-T7 must be thrown to open position
27TKG6* - 4. --18 20 2 9 123678 680
*Must use Magnoval adapter. Grid cap goes to top of tube
Levers 1-3 must be thrown to open position
28GB5* 4 18 22 2 38 123678 160

*Must use Magnoval adapter. Grid cap goes to top of tube
Levers 2-7 must be thrown to open position




elgnore glow on 2-3-8

42.
TUBE "SECT A B C D CATH CONT TEST
28HA6 4 19 22 2 1 3689 2687
elgnore glow on 6 :
28HD5
(Key at 0) 1 19 20 2 4 59 357
Lever 9 must be thrown to open position
29GK6 . S 19 23+ 2 1 39 278
29KQ6* = 19 ' 720 2 9 123678 @130
elgnore glow on 1. Cap goes to top of tube
*Must use Magnoval adapter
Levers 6-8 must be thrown to open position
30AG11
(Key at 8) Tri-1 9 19 22 . 2 4 - 23
Di-1 9 19 --24 - .2 6 - 5
(Key at 2) Tri-2 3 19 22 2 6 - 8
Di-2 3 19 24 2 f - 5
30CW5 4 19 21 2 3 - 0126789
elgnore glow on 1-6-7. May show short on 1-2-6-7-8-9
30HD5
(Key at 0) 1 19 .20 2 4 59 357
Lever 9 must be thrown to open position
30HJS
(Key at 0) i 19 20 2 “+ 59 @3579
elgnore glow on 5-7
30KD6
(Key at 4) 3 19 20 2 6 1278 2790
elgnore glow on 2. Cap goes to top of tube
31JS6
(Key at 3) = 19 20 2 5 16 01680
elgnore glow on 1. Grid cap goes to top of tube
33GT7 .
(Key at 4) Di 3 19 =18 3 8 - 6
Pen S =g r2es, 2 0 - 129
33GY7
(Key at 3) Di 2 19 . -:18 3 7 - 5
(Key at 4) Pen 3 190508502 0 - 12
33JV6
(Key at 5) 6 19 21 2 /f 29 023890



43.
TUBE SECT A B € D CATH CONT TEST
34CD3
(Key at 0) 1 119, = 201> -2 7 - 4
34CE3
(Key at 0) 1 19- 220 .2 7 - 4
35C3 3 19 -3 1 7 - 5
35DZ8 Tri 4 19 28 2 8 - 19
W Pen 4 195: 23 2 2 - 367
38HET7
(Key at 0) Di Ie= .19 16 3 o - 2
*Caution:- Lever 5 must be thrown to open position
before inserting tube
(Key at 8)  Pen* 7 305116+ 2 3 - 46
38HKT7
(Key at 0) Di 1 19-. 18. 3 4 - 2
(Key at 8) sCaution:-Throw lever #5 to open position before
inserting tube
" Pen ¥ 7 19 16 -2 3 - 46
40KD6
(Key at 4) 3 19 =20 2 6 1278 «2790
elgnore glow on 2. Cap goes to top of tube
42KN6 i
(Key at 6) 2 19 '20".=45 8 4-9 02490
elgnore glow on 4. Cap goes to top of tube
50BM8 Tri 4 920 19 B 8 - 19
- ~ Pen 4 20 19 3 2 - 367
50HN5 4 20, 22 2 3 12 01279
elgnore glow on 1
50JY6 2 20,720 =2 8 14 450
Throw lever #1 to open position
58HE7
(Key at 0) Di 1 20 16 3 4 - 2
*Caution:-Lever 5 must-be thrown to open’ position before
inserting tube
(Key at 8) Pen* 7 20 ' 1622 3 - 46
60HL5 4 20 21 2 3 12 e1279

algnore glow on 1

GL-866A 1 4 31 2 - - 0




44.
TUBE SECT A B c D CATH CONT TEST
5896 Di-1 3 9 6 1 7 - 5
. Di-2 3 9 6 1 2 - 1
5933 1 9 18 3 4 5 023
6085 Tri-1 9 9 7 1 3 45 12
" Tri-2 9 9 i/ 1 8 - 67
Fil Cont - also throw 4-5 together
6094 3 9 19 3 4 1245679 124
Levers 6-7-9 must be thrown to open position
6216A - 9 23 2 38 1368 1267
elgnore glow on 1
6217 4 9 24 9 2 - 1267
CK6397 5 2 7 1 - 17 368
6485 3 9 3 1 T - 1256
CK6526 5 2 26 2 - - 124
6686 4 9 24 2 3 16 2789
7119 Tri-1 8 9 23 2 6 45 79
2 Tri-2 8 9 23 2 3 - 12
7320 4 9 5 1 3 12 01279
elgnore glow on 1
7408 2 9 8 1 8 - 345
7551 4 13 25 2 19 1389 23867
elgnore glow on 3
7558 4 9 250 2 19 1389 023867
elgnore glow on 3
7581 2 8 24 2 8 - 345
7586 4 9 17 .3 3 5 12
7591 2 9 24 2 5 48 04836
eIgnore glow on 4
7687 Tri 4 9 251 2 8 - 19
u Pen 4 9 23 2 7 - 236

- o a9 6=

o G
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q TUBE SECT A B & D CATH CONT TEST
Y 1695 4 20 28 2% 7 * 169
(] 7728 Tri-1 9 9 4 1 8 45 67
| g Tri-2 9 9 4 1 3 = 12
7729 Tri-1 9 9 27 .- 2 8 45 67
n " Tri-2 9 9 20 2 3 - 12
7730 Tri-1 9 9 8 1 8 45 67
i Tri-2 9 9 8 1 3 - 12
—
‘ 7731 Tri 4 9 24 2 8 - 19
b Pen 4 9 24 2 7 236
B 133 % 9 - .28 2 1 3459 278
|
7788 4 9 19, 02 13 1369 2679
T 7g02 Tri-1 7 9 23 2 6 - 45
) " Tri-2 17 9 28 2 3 12
7868 4 9 28 " .2 3 1267 12679
q elgnore glow on 12
7984
(Key at 7) 6 13 24. 2 239 23915 450
Must show short on 2-3-9-1-5
Throw lever 1 to open position
m 8056 4 9 16 3 3 - 12
0 s102 Tri 4 13 22 2 2 - 13
¥ Pen 4 13 22 2 8 - 679
n
| 8106 4 13 18 3 269 23689 1378
Must show short on 23689
& Cathode short test - throw 2-6-9 together
'a)
| 8113 3 9 3% 3 27 27 156
Must show short on 2-7
Cathode short test - throw 2-7 together
n 8156 :
| (Key at 4) 3 13 26 2 60 67890 129
Levers 7-8 must be thrown to open position
8203 4 9 17 .3 3 5 12

e |

S

. ey



46.
TUBE SECT A B C D CATH CONT TEST

8233% 4 9 20 2 79 2679 138
*Must use Magnoval adapter

82178%* 4 9 21 2 26 123678 13789
elgnore glow on 137
*Must use Magnoval adapter

8298 2 9 22 2 146 146 350
8417 2 9 21 2 8 - 345
8441 4 9 18 3 3 - 12
8532 3 9 4 1 2 156 01567
elgnore glow on 1-5
FOREIGN
DAF-92 Pen 1 2 34 2 - - 236
- Di 1 2 29 3 - - 4
DL-93 5 2 30 2 - 1267 2634
elgnore glow on 2
DL-95 5 2 29 2 - 1267 2634
elgnore glow on 2
DL-98 26 2 29 2 - 45 137
DY-87 258 2 21 4 - 1469 0
E-55L* 4 9 20 2 79 2679 138
*Must use Magnoval adapter
E-81L 4 9 24 2 3 16 2789
E-182CC Tri-1 8 9 23 2 6 45 79
i Tri-2 8 9 23 2 3 - 12
EAM-86 Tri 4 9 21 2 9 - 18
v Eye 4 9 0 4 3 - 67

See instructions for eye test

EB-91 Di-1 3 9 18 3 5 - 2
& Di-2 3 9 18 3 1 - 7
EBC-81 Tri 4 9 7 1 3 79 12
X Di-1 4 9 29 3 - 8
Di-2 4 9 26 3 6
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47,
TUBE SECT A B & D CATH CONT TEST
EC-80 1 9 3 1 5 2378 2378
elgnore glow on 2-7
EC-81 4 9 23 2 3 - 18
EC-88 4 9 21 & 2 2 13679 18
Levers 3-6-7-9 must be thrown to open position
EC-95 3 9 22 2 17 17 256
EC-97 3 9 22 2 17 17 25
EC-900 3 9 21 52 27 27 15
ECC-34 Tri-1 7 8 7 1 6 - 45
. Tri-2 17 8 7 1 - 12
ECC-91 Tri-1 3 9 24 2 /f - 25
24 Tri-2 3 9 24 2 - - 16
ECC-189 Tri-1 4 9 22 2 8 - 67
iy Tri-2 4 9 22 2 3 - 12
ECC-801S Tri-1 9 9 4 i 8 45 67
i Tri-2 9 9 4 3 - 12
ECC-802S Tri-1 9 9 8 1 3 45 12
X Tri-2 9 9 8 1 8 - 67
ECC-808 Tri-1 4 9 24 2 8 - 79
B Tri-2 4 9 24 2 2 - 13
ECF-83 Tri 4 9 19 3 1k - 23
L Pen 4 9 19 3 8 - 679
ECF-200 Tri 5 9 22 2 il - 90
2 Pen 5 9 20 2 2 - 378
ECF-201 Tri 5 9 22 2 1 - 90
i Pen 5 9 20 2 2 - 378
ECF-801 Tri < 9 21¢ = 2% 13 13 89
2 Pen 4 9 20 2 - - 267
ECF-802 Tri 4 9 22 2 8 - 19
n Pen = 9 21 - 2 7 - 236
ECF-805 Tri 4 9 21 2 68 68 19
4 Pen 4 2 - - 237

9 19
Cathode short test - throw 6-8 together




48.
TUBE SECT A B C D CATH CONT TEST
ECH-35 Tri 2 9 26 2 8 - 56
" Hex 2 9 26 2 - - 3459
ECH-84 Tri 4 9 23 2 3 - 89
1 Hep 4 9 21 2 - - 2617
ECH-200 Tri 5 9 20 2 9 - 80
! Hep 5 9 21 2 1 - 347
ECL-85 Tri 4 9 24 2 3 - 12
" Pen 4 9 22 2 8 - 679
EF-22 L 9 4 1 7 - 2346
EF-39 2 9 5 1 8 - 3450
EF-92 3 9 6 1 2 - 1567
EF-95 3 9 25 2 217 27 156
EF-806S 4 9 26 2 3 27 169
EFL-200 Pen-1 5 9 20 2 7 - 890
o Pen-2 5 9 20 2 2 - 134
EH-900S Tot 3 9 5 1 2 - 1567
i Tri 3 9 5 1 - - 16
EK-11 6 13 24 3 2 19 10
EL-13 2 9 23 2 8 - 567
EL-32 2 6 1 8 - 340
EL-33 2 9 24 2 8 - 345
EL-36 2 9 23" .2 38 1348 459
May show short on 1-3-4-8
EL-82 2 9 24 2 3 - 279
EL-83 4 9 22 2 3 - 127
® e
EL-85 4 9 6 1 3 1268 126879
eIgnore glow on 1-6
EL-91 3 9 25 2 2 = 157
EL-500% 4 9 22 2 38 123678 160

*Must use Magnoval adapter. Grid cap goes to top of tube
Lever 2-7 must be thrown to open position

N



49,
TUBE SECT A B C D CATH CONT TEST
EL-503* E 9 21 2 26 123678 13789
elgnore glow on 137
*Must use Magnoval adapter
EL-821 4 9 3 1 3 - 278
ELL-80 Pen-1 4 9 22 2 1 - 123
i Pen-2 4 9 22 2 - - 689
EM-34 2 9 0 4 8 - 365
See instructions for eye test
EM-87 Tri 4 9 29 2 3 268 19
& Eye s 9 0 4 - - 67
eLevers 2-8 must be thrown to open position
See instructions for eye test
EY-81 4 9 22 2 0 8 2-9
*May show short on all pins
EY-86 258 9 21 4 - 1469 0
EY-87 258 .8 3L 4 . 1469 0
GY-501* 248 4 20 4 - 14589 0
*Must use Magnoval adapter. Cap goes to top of tube
HBC-91 Tri 3 13 27 2 - 17
" Di-1 3 13 27 3 - 5
¥ Di-2 3 13 27 3 - - 6
HCC-85 Tri-1 5 15 22 2 8 - 67
" Tri-2 5 15 22 2 3 - 12
HCH-81 Tri 4 13 25 2 3 - . 89
it Pen ES 13 23 2 3 - 126
LC-900 3 4 21 2 27 27 15
Lever 2 must be thrown to open position
LCF-200 Tri 5 9 22 2 1 - 90
% Pen 5 9 20 2 2 - 378
LCF-201 Tri 5 9 22 2 1 - 90
p Pen 5 9 20 2 2 - 378
LCF-801 Tri 4 9 21 2 13 13 89
'S Pen 4 9 20 2 - -

2617




50.
TUBE SECT A B (& D CATH CONT TEST
LCF-802 Tri 4 9 22 2 8 - 19
H Pen -4 9 21 2 7 - 236
LCH-200 Tri 5 8 20 2 9 - 80
il Hep 5 8 21 2 1 - 347
LCL-84 Tri 4 12 23 2 3 - 12
0 Pen 4 12 23 2 7 - 689
LF-183 4 6 22 2 13 13 2789
LF-184 4 6 21 2 13 13 2789
LFL-200 Pen-1 5 12 20 2 7 - 890
i Pen-2 5 12 20 2 2 - 134
LL-86 4 12 21 2 3 % 0126789
eIgnore glow on 1-6-7.*May show short on 1-2-6-7-8-9
LL-521%* 2 17 20 2 9 123678 9130
elgnore glow on 1. Cap goes to top of tube
*Must use Magnoval adapter
Levers 6-8 must be thrown to open position
LY-88 4 17 24 3 0 * 9
*Must show short on 1-2-3-6-7-8
Levers 1-2-3-6-7-8 must be thrown to open position
PC-88 4 6 20 2 2 13679 136798
elgnore glow on 1-3-6-7
PC-95 3 5 20 2 17 17 25
PC-900 3 6 21 2 27 27 15
Lever 2 must be thrown to open position
PCC-88 Tri-1 4 9 23 2 8 - 67
o Tri-2 4 9 23 2 3 - 12
PCC-189 Tri-1 4 10 22 2 8 - 67
g Tri-2 4 10 22 2 3 - 12
PCF-86 Tri - 10 23 2 3 13 67
i Pen 4 10 22 2 gk - 289
PCF-200 Tri 5 10 22 2 1 - 90
i Pen 5 10 20 2 2 - 378

C



51.
TUBE SECT A B & D CATH CONT TEST
PCF-201 Tri 5 10 22 2 1 - 90
s Pen 5 10" 220522 2 - 378
PCF-801 Tri 4 it 21 2 13 13 89
i Pen 4 1d 2022 - - 267
PCF-802 Tri 4 12 22 2 8 - 19
! Pen o 12 21 2 7 - 236
PCF-805 Tri 4 10 21 2 68 68 19
P! Pen <4 10 19 2 - - 237
Cathode short test - throw 6-8 together
PCH-200 Tri 5 11 20 2 9 - 80
i Hep 5 11 21 2 1 - 347
PCL-81 Tri - 13 26 2 38 38 17
4 Pen 4 13 23 2 - 269
PCL-82 Tri 4 15 24 2 8 - 19
i’ Pen -4 15 21 2 2 - 367
PCL-84 Tri 4 14 23 2 3 - 12
it Pen 4 14 24 2 7 - 689
PCL-85 Tri 4 16 24 2 3 - 12
i Pen 4 16 22 2 8 - 679
PCL-86 Tri B 14 26 2 2 - 19
4 Pen 4 14 23 2 7 - 368
PD-500% 4 10 32 2 1 123679 80
*Must use Magnoval adapter. Cap goes to top of tube
PF-86 4 7 23 2 3 27 169
PFL-200 Pen-1 5 15 20 2 7 - 890
2 Pen-2 5 1% 20 5.3 2 - 134
PL-81 B 7 21 2 3 16789 280
Lever 7 must be thrown to open position
PL-82 B 5 21 2 3 - 279
PL-83 4 14 25 2 3 - 1267
PL-84 4 14 18 3 3 126789 279
Levers 1-6-8 must be thrown to open position
PL-500% 4 18 22 2 38 123678 160

*Must use Magnoval adapter. Grid cap goes to top of tube
Levers 2-7 must be thrown to open position



52.
TUBE SECT A B G D CATH CONT TEST
PL-521% <4 19 20 2 9 123678 @130
elgnore glow on 1. Cap goes to top of tube
*Must use Magnoval adapter
Levers 6-8 must be thrown to open position
PM-84 Tri - 6 34 2 3 268 19
i Eye* 4 6 0 4 - - 67
*Levers 2-8 must be thrown to open position
See instructions for eye test
UAA-91 Di-1 3 16 18 3 il - 7
X Di-2 3 16 18 3 5 - 2
UCF-12 Tri 2 17 19 3 - 45
" Pen 2 17 19 3 - - 167
UCL-82 Tri 4 20 19 3 8 - 19
M Pen 4 20 19 .8 2 - 367
UL-84 4 19 23 2 3 12689 126897
elgnore glow on 1-6-8
XC-95 3 B 22 2 17 17 256
XC-900 3 3 21 2 27 27 15
Lever 2 must be thrown to open position
XCC-189 Tri-1 4 6 22 2 8 - 67
3 Tri-2 4 6 22 2 3 - 12
XCF-80 TREi - 6 23 2 8 - 19
i Pen e 6 22 2 q - 236
XCF-801 Tri 4 6 21 2 13 13 89
u Pen’ o 6 20 2 - - 267
XCL-82 Tri 4 10 25 2 8 - 19
" Pen 4 10 23 2 2 - 367
XCL-84 Lrl 4 11 23 2 3 - 12
o Pen 4 11 23 2 7 - 689
XCL-85 Tri 4 12 24 2 3 - 12
i Pen 4 12 22 2 8 - 679
XL-36 2 13 23 2 38 1348 459

Must show short on 1-3-4-8
Cathode short test - throw 3-8 together

2 AJ' “(_ A O
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53.

TUBE SECT A B C D CATH CONT TEST

X1.-84 4 11 5 1 3 12 . 1279
elgnore glow on 1

XL-86 4 11 21 2 3 * 0126789
elgnore glow on 1-6-7. *May show short on 1-2-6-7-8-9

XL-500% 4 13 22 2 38 123678 160
*Must use Magnoval adapter. Grid cap goes to top of tube
Levers 2-T7 must be thrown to open position

YC-97 3 5 22 2 17 17 25

YC-98 246 1 0 0 - - 19







